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lm ¢>< WEEE W = 184 kg
hG @ O EJRY=T hG= 400 cm
EF RILER/RY  (RiB) LA= 30.0cm
m FH FH (%gi8) LB= 205cm
QO_J/ > > RILEDS LGA= 15.1 cm
& / EOETOIER LGB= 25 cm
v Yoiry RILEH AR M10
LGAY W+FV LGB RILR L n= 4K
LA LB
BEERTRZESE., hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxW x9.8| 180.3 N 270.5 N 360.6 N
REtHSEMERD FV=FH/2 90.2 N 1352 N 180.3 N
Toh—RILEBIER B RILER /R KIBAIRbA)
R FH xhG + (W x9.8+ FV)x(L-LG) 187.6 N 258.9 N 330.3 N
L x nt RILE R/ 5538 {8I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 294.7 N 402.4 N 510.2 N
Toh—mRILME ARG HE
=1 RIS 82.0 N/lem?| 1229 N/em?| 163.9 N/cm?
n-A A=055 cm?
B7oh—OEMHRSIRFEICHTIREE
EHETE FToh—RILM(BR LR
BERTERILH 7 H—H (_Mg 2 12.9 {& 9.4 {& 7.4 {%
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400
) 123.2 {& 82.2 f& 61.6 &
EEA R AW SE 101 kN/om®
AT RARILE(A2-50
ke ( ) 111.3 & 74.2 & 55.6 {&
SEEASE R AMIS B 9.12 kKN/cm?
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